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BE3, 1 (WFT9,69))

BE, 11 (S 2503)

a. T CH,— €= CH-CH,

cl "

[ V@, AR.RT W00,
(VR L3 T LToa,L80)

H H O 0]
| L |
B. + N—(CH,) —N-C—(CH,),-C

[1. DTN (,20T%)

Question:
("TI
C. +CH,—-CH M. De3A.e,La00*
i
0O-H O-H
C].I."'I r =
i { f L CHy f i } IV. eVas 33505 53
- 20858, S8
n
FENS e30d,NFe) 7D 3T e3DA:
A: A-IL B-III. C-IV. D-I
B: A-IIL B-II. C-IV. D-I
C: A-IIL B-1. C-IV. D-II
D: A-I. B-IIL. C-IV. D-IT
Topic: Chemistry-Section A
Item No: 47
Question ID: 154771545247
Question Type: | MCQ

TR - #0, 903THOIT AOWORATOI DT TLPINF, OLBT.

BEDF 1 : 360,73 3003 3N (BENTCOT) YR, IBREFITS)
~DWEORATIN w393, B NY FEH3EIT o™, M2FORDATITING.

Question:
BEDTF I : DTRFFNS) 3o, MER0DN @)oo ATLIeN 22053000,
eNOENTITVTBO) ).
e DEPFNF R, MeDdDA, FYNS 30,1 FD en3d T e3DA
A: TLPT -1 2B, -1 dzsadianed




TPT-1 eH 3, TRPT -1I Sz, Ned

TRPT -1 2, 3TV BCPT -1I 3z30,NT

D: TPT -1 3, BT BCPT -1I ADCINT
Topic: Chemistry-Section A

Item No: 48

Question ID: 154771545248

Question Type: | MCQ

FYT TR TEPINT R, DG, 2,00 BySWOTN (A) ed32000
FoOeze NG (R)

) ATOWS A: IPBH0 oo Trnisy) DT RIARS e Sranieend.

Question: | 580 R: 307 7,57 3050 2ers 3950 DRV, MA" & 67
ate3 mTETIeH) D)., DI etmTeinn eI AWEIT.
SO BELBNTR, NaDOR FFNT 303,NFE). FDCIIVE V3T,
e5DA:

A: A D3, R 7ieh ADOIONES e03). R &) AT ADOIRE 3T NS

B: ADI) RN DzsedoNed SWO R &) AT ADOIIRE JeIUHD e3Ne),

C: A 2e30NG 330 R o) Se9,NGS

D: A 3&9,NGS 330 R ADOIIeNG

Topic: Chemistry-Section A

Item No: 49

Question ID: | 154771545249

Question Type: | MCQ

2N $03FRODELTE a sH3), B Y T30 ReIe3md, FOB
ol oD,

Question: HCN . A
H30™
@ NaBHy
(#) HI'P
A: A=C?H14DS, B=CI5H].4
C: A=C?H1203* B=C5Hl4




Topic:

Chemistry-Section A

Item No: 50
Question ID: 154771545250
Question Type: | MCQ

1
(1) I,/ NaHCO;

o
§9

Q) &baatar A
Question:
2t 3odhoh ), enoésamies @ eud ..
A: O@:o
o
B: Qi:\ CO,H
|
D: CQED
Topic: Chemistry-Section B
Item No: 51
Question ID: 154771545251

Question Type:

Numeric Answer

2L &R, 0.2M H,S80, 73, 2L 323, 0.1M NaOH tieje3atd et

Question: 33EAITE. Do), evodsenizd Na,S0, 03 7,0 dueteint3ain
N RLETTIF). (FedBE JRarm083;)

Topic: Chemistry-Section B

Item No: 52

Question ID: | 154771545252

Question Type:

Numeric Answer

M e3@t®ag) fec 2FROTFTRE). 4.0 x 10 ~5 em 902D e BR0DT

A L3830 0nRAY ). SRtEE BTIRITS03N g/mol.
Question: (BN ZPLIEROD,)

(eVTBOSRENA: Ny = 6.02 x 102 mol ™!, Set®T 0TS, M = 9.03g em™)
Topic: Chemistry-Section B




Iltem No: 53

Question ID: 154771545253

Question Type: | Numeric Answer

T, TR0 BT eIREeI )OGS 2ITBITIES BUROTIE 2,003 3T, 0™
300N e 3.3 x 10710 m €333, 2.0 3T, o 3, 302,30
cotDTRY,ES FB0IN edve,, ¢ 30, BTe0cdde)JOT BRT2ITEN
Question: i3, 20 TIR, FIN BRCODATIN _ Camo,MHage.

[33: h=6.626 x 104 T ¢]

DT, Bjed;002=9.1 x 107 kg

Topic: Chemistry-Section B

Item No: 54

Question ID: 154771545254

Question Type: | Numeric Answer

ATDIE) B 02 TR eBSAINY 900 NTEaeg) 0.8 atm 2,630,
2,33, 2,003 BSTIF Wed Dje3etleobn

Question: HeL3ROTHE) TR, e3m), A T 23Wecer 90T 2i0E ,AeoRe).
0.5 203, TJa3A,3 (e9e3A),) Afehab ), 0.2 YAIHT. A ST T ST
LR, 2.3 B atm. (Ae)BDI FPLas A0&S;)

Topic: Chemistry-Section B

Iltem No: 55

Question | 454771545255

Question

Type: Numeric Answer

600K &3¢, 2 e300 neFa),; NO a3y, 1 s3eterma), 0, I3 R0 2388,
2NO,) + O (g) = 2NO(g)

Question: | .in 2,83y, 2.3 BHEL, SODTOZ HTINE 3R FeHNIALOTS,

BENTYTIT). W5e3M 007, DBERATIRN,

0.6 BREETTaR),, €338 240° AeN3ALOTEE) BT FTOWITIHTR. FOHMN Feh3 RO JCHIV0T)
(AedBE BRTFOT)

Topic: Chemistry-Section B

Item No: 56

Question ID: 154771545256

Question Type: | Numeric Answer




0.125 g DR, AP0 FOOINTEYHF, 2,073 TREDANTY, BT
ITINGEE). OB RBRLATION, 22.78 mL @), 03,E38020° eandy,
280 K a3, 759 mm Hg 0HE), KOH t39;e3£03 adoted Feandaesnalydd.
FRE3,0hes Aeeodes A0CINTRE), ¥Tie FiTteend N8R e

Question:  (RedXTT FPBIEOT)
[(33.: (a) 280 K 3€). DED 230as,, 2.3 Ceg)in 14.2 mm Heg.
(b) R=0.082 L atm K~! mol™!]

Topic: Chemistry-Section B

Item No: 57

Question ID: | 154771545257

Question Type:

Numeric Answer

T 3R COTTT
K10, 3R00NS #ohodd),, ;038R0 @eles, 08 B3R HBM/A0E) 0;

Question:
vestion DBINBRRT,EIED. KI0, I€). 1 = 03,8500 B0B;006€), e3rred 200035030
Topic: Chemistry-Section B
Item No: 58
Question ID: 154771545258

Question Type:

Numeric Answer

Question:

2,003 §odmen TN Btaseed 3 (MagF) LB RN

Inkv/s 4

LI OMWOMWIETOWICO R O WN! cal mol™! 7} BehEdeNTIEHT.

(@3:R=2cal Kl mol™)

0.0 1




Topic:

Chemistry-Section B

Item No:

59

Question ID:

154771545259

Question Type:

Numeric Answer

30E3,003DINTE). FOETOT DIRHT FeDIA0D B0 FIT

2Tt ONY F0L;000

(a}

(b)

log=—
m

Question:
(©) log P — ) P —
Iuj_:% Iugi
P— log p —
Topic: Chemistry-Section B
Iltem No: 60
Question ID: 154771545260

Question Type:

Numeric Answer

2063 Cocsedniore) . 2.8 2301 (Add) ety S085,010:

€3030% 4 (U)

Question: o3 (V)

T (q)

D0, (H)
Topic: Mathematics-Section A
Item No: 61
Question ID: 154771545261
Question Type: | MCQ




S=[xe[—6, 3] —§2.2) :|x|1_|i|:136} 3, T:{xEE S |x|+9£0}

Question: i
e3N0C). FPDRFOTNY Neeien3 3. e3n SNT I Toes Nmeoany
~O85,

A: 7

B: 5

C: -

D: 3

Topic: Mathematics-Section A

Item No: 62

Question ID: | 154771545262

1Q_}l/.Jpees:tmn MCQ
X2 =2 x+ 6= 0 RARTOADOTI sDRONED a, B €3N eI,

Question: X2+ ax + b= 0 FeETTEIT EDROTIE, :—24—1: ;—2+1 SNED.x2—(a+b—-2)x+(a+b+2)=0
@ 2RO

A: E9EI0A B3 T NRE0; A0S TS

B: 20 3 203, wQele s 3 T NTdIZ S

C: 20A 23 203, DR Bred FeoeNTi3ed

D 20 23N TI3 e a3, e9NiFe) 2,003 JTeiaN

' D03 Faent3d

Topic: Mathematics-Section A

Item No: 63

Question ID: 154771545263

Question Type: | MCQ

AD3) B e Fedeoen 3 x 3 B0l Aedieon «h3), e9Aleon

Question: 303, 3NFRNTO). TENTEINTE). 030EHE FOAIDNTITHDE.?
A: A*—B* .00 Aeon @ed,T

B: AB - BA 2,003 €9A3007 30 3,T

C: B’ - A’ 2,003 ©9Az00N &3503,T

D: AB + BA 2,0T3) ©9A300N e3503,F

Topic: Mathematics-Section A

Iltem No:

64




Question ID:

154771545264

Question Type:

MCQ

FE)=al+bx+c SN, f(1)=3.A-2)=LeD3),

Question:

F(3)=4e3nNTOD. FO+ (D +F(2)+f(3) =14 3NT 3, A &3 e3e3asn
A: —4
B: E

2
C: =

2
D: 4
Topic: Mathematics-Section A
Item No: 65
Question ID: 154771545265
Question Type: | MCQ

f)= lim = (@m) = 2 sin (b) o, 2000 0AO L, f R R

Question: H—00 14 x2n+l _ 4 2n
eI, B,ed). €, x T1 €9e)23,73,200M0es Teagd):
A E—{-1}
B: R-{1,1}
C: E-{1}
D: E-{0}
Topic: Mathematics-Section A
Item No: 66
Question ID: 154771545266
Question Type: | MCQ

Question: fx) = xe*(1=%) x e B, o3 S5
A -1, 1] S€). B,D.AIT

B: é; 2]3@1 S N

c: 1, _2] SE), &3,0,730

D: —§ %] SE). 30837038

o

Topic:

Mathematics-Section A




Item No: 67
Question ID: 154771545267
Question Type: | MCQ

[0. 1] &203Te¥R). f(x)=tan"! (sin x — cos x) GVI_ T, T WOFPPEIE MO,

Question:
3, ROTPIE TOR, BSNY P35
A: 0
1 T
B: (7l e P
EIE
C: cos™! o8 |
J3 4
o E
' 12
Topic: Mathematics-Section A
Item No: 68
Question ID: 154771545268
Question Type: | MCQ
x(£) = 2+f2 cost Afsin 2r @0BY () = 242 sint +fsin 2t, t € (0: % ) e3nNT. esni
Question: 1+[‘i"]” -
f‘r it t=— B33
dly 4
dx?
A: iﬁ
3
2
B: -
3
C: !
3
D: _—2
3
Topic: Mathematics-Section A
Item No: 69
Question ID: 154771545269
Question Type: | MCQ

Question:

I,(x)=] ﬁa’n n=123% wrod. G

501, —91, = xI!




B: 501, —111, = xI.

501, —9. =1,
D: 500,117, =1
Topic: Mathematics-Section A
Item No: 70
Question ID: 154771545270
Question Type: | MCQ

y=log, {5+ e}, x=iog, [] SHBeBRH a3y, el y =1 ehees ¥oes

Question:
x = log.2 O3 €323,3250NT0E3 )AL
A: 2+e—log2
B: 1+e—log.2
C: c—log.2
D: 1+1log.2
Topic: Mathematics-Section A
Item No: 71
Question ID: 154771545271
Question Type: | MCQ

[:: @] )OTIT THROT TG BRTHE ITFTOR FedotTTeD

Question: @, ,Ly:[ﬂ]% el T BODIOE S3HTEI00)
dx x =1 x+1
y =y(x) SN0, 57T 7 y(8) O30
A: 11 + 6 log,3
B: 19
C: 12 -2 log,3
D: 19 -6 log,3
Topic: Mathematics-Section A
Item No: 72
Question ID: | 154771545272
Question Type: | MCQ

Question:

(0, 2) 032, (0, —2) DoTNY eHROT TATHTRLME 3,3 1Y
N0 93TOR AeTTIeY)

A:

Exy%-l—(xl—yz +4)=0




dy ,
B: 2xy =+ (x2+y*—4)=0
i ( y )
C: 2xy@+(y3—x2 +4=0
dx
dy .9 4
D: 2xy—=——(x"—y+4)=0
s (x"— 3 +4)
Topic: Mathematics-Section A
Item No: 73
Question ID: 154771545273
Question Type: | MCQ

e3,3, x* +y7 —4x + 3 =020 A eH3), B TR R)OTINPTH 0

Question: A, TN eheed2)odd 0 (0. 0) ), AOHAI . €37 823023 OAB O
eJALEIETY)
A: ?’_‘E’
2
B: ?’_‘E’
4
3
C: 2—1}5
o 3
: 4J§
Topic: Mathematics-Section A
Item No: 74
Question ID: 154771545274
Question Type: | MCQ

9380 BOD # X _-;'_izl DOLVT) (245, - 24) LIOTIIN TROF
=y

TRTB/RCNTE). 2,003 B30T, 93T T92)03 Foe3 B x
ATRETTITVE H &S oz Acneven 3. e S030005

Question: FOOTeY H &3 302,003 92003 eDROT Fais) BRCNTO).
BTSO0NE TR0 et e H & 002)00200 a0 S e @383, 9630
(times) oM@ e 01 H & en3 00003 0NG B, T¥N~ Olieed
20N BTN T ehedTr33?

A: (h’i 3&)

B: (3«@ —5\5)

C: («."’5; —«."E)




D: (B-JE Gﬁ)

Topic: Mathematics-Section A
Item No: 75

Question ID: 154771545275
Question Type: | MCQ

=220 ahgy T 243 gegdrish AahAO@NTY

Question: D3, P 03N 9 DTER TSN, .81 R0%B0S Feh30ense). esn
FEYNS O3wes LIOTneh P el gthaddey ?

A (0, =Z2~—¥)

B: (—5,0,-1)

C: (3,-1,0)

D: (0, 4. 5)

Topic: Mathematics-Section A

Item No: 76

Question ID: 154771545276

Question Type: | MCQ

2,00 AD3OY) -2, 1. -3 a3 1. 2. -2 HTe WeeNy),
RO QU RBNPLH Aed003TewioNd. a3, 93 (2. 2. -2)
20T, wFTBOGBTIZE. P 030 AT3ETVOT e9FNFy, A, B, C

Question: | o o ree). e5eDR. a. b7 EEERTT, V0L TRRIS. V o
63639,0039,0° OABC O c3edeN (W), 0 eDR®IOT) eI p=a+p+
v &SNS 0, 31 (v, p) O TaRCI0NE)

A (48.-13)

B: (24.-13)

C: (48. 11)

D: (24.-5)

Topic: Mathematics-Section A

Item No: 77

Question ID: 154771545277

Question Type: | MCQ

Question:

S ARLEIHT D). a € . YOI peaioNdl,, eh3) ¥R,
i = a(log, b)i —6j+3k 03, ¥=(log,b)i +2j+2a(log,b)k,(b>1)FDBNE
NN TR OFTVTRTeIeNTe). e31 S =




A [—002 ! —]
3

B D@
L

3

7
Topic: Mathematics-Section A
Item No: 78

Question ID: 154771545278

Question Type: | MCQ

2,000 AD3R,M3 Ntiedediey) AB = 16 ade0ecne) |ddes
323025 OAB O e3390RNES. 2,003) ©0WeeNded DDA 03T,

S 20T 10T PAO=,PBO=15 a3 C 0D AB OB eh3:2)0Hasn
£PCO=45"e3NT303 Ao dmern. e3n (0P) & 23edodn:
32
A E ('\E— 1}
32
B: E (2— '\E)
16
C E ('UE— 1]
D: 8 (2—-\5)
3
Topic: Mathematics-Section A
Iltem No: 79

Question ID: 154771545279

Question Type: | MCQ




ATH3) B OO HESHEIN P(B|A)=§ . P(./I|B}=% Y

P{Aﬂﬁ}zé . 0BT,

ﬁ@’ﬁﬁj@jﬂ%‘?mi Mool A
Question: 5
(S1) P(A'u!i‘):g

($2) P(A’uﬁ"}zé

€37

(S1) ZH3B), (S2) DT ADOINES

(S1) EH3B), (S2) DTBL 3we,,Ned

(S1) 093 FOOIHNT

oS o|lw >

(52) 093 FOOIHNT

Topic: Mathematics-Section A

Item No: 80

Question ID: 154771545280

Question Type: | MCQ

p : TR FONCITH), FLFITS.
q : CetBad) 33, BR,00 TRTNE QLI
R = RATNKADINNIAD]S!

Question:
g 88 D FDewT
37 20085; "CatFad A0NEIdndy, LTS 03 9ednd 3,
ZT,00), 95,0 23, 8 HF weslwes e &8 Hx Jdeed
SN0 a3 0T, 23T elsAES 2I7.

A: (~q)Avs)=p

B: (qAa(rvs))=rp

C: p=(qA(rvs))

D: p=((~qQAlrvs))

Topic: Mathematics-Section B

Item No: 81

Question ID: 154771545281

Question Type: | Numeric Answer




4 6
[ﬁ+ ﬁr} Q-3 BB [1_%19; B>0R IR OBODOR TG
DN ADMLITND) FTeeden Aae030 FLE0d) (AP) BRT

Question:
2Rt BWreeno), 'd 0ol Aedwo30 Fete0d (AP) AeIod;
2d
ARG eV o) 50—5—2 & 23e3a30
Topic: Mathematics-Section B
Item No: 82
Question ID: 154771545282

Question Type:

Numeric Answer

2,003 3TMS0) b TBBINTY eD3), g TIBINODTR, ¥R,

Question: 3030003 3 BN &3, 2 BIBINODTRY, 30D, WRBFRT), &3
eIENE AOa3; 000 168 e3NT3 3B, esri b+ 3 g 0D 23e3ciw

Topic: Mathematics-Section B

Item No: 83

Question ID: 154771545283

Question Type:

Numeric Answer

DCDE 33,3, —‘? L1 B DT P a3y Q 20T)TE). 0¥

-

= IEFNAD R (2, 242-2) DOTIITE), RODFIB. S DTLTIT) DI

Question:
3,303 2003, T DT FOR aeDTES Doz)oiens S esnt SP? + sQ?
INEATSIOVIN :

Topic: Mathematics-Section B

Iltem No: 84

Question ID: 154771545284

Question Type:

Numeric Answer

L@ +B0 Vot A0 %000 20 ol Pt m s i,

Question:
n+mededadn .
Topic: Mathematics-Section B
Iltem No: 85
Question ID: 154771545285

Question Type:

Numeric Answer

Question:

DTG R FET e85 1y 5303, L, RFR0, (2, 0) DOTIDDOTS TS0 257
A JETNEE 3030 o371 17r &3 23e303n




Topic:

Mathematics-Section B

Iltem No:

86

Question ID:

154771545286

Question Type:

Numeric Answer

%+%+ %+4_§+___+ W2 o0 g (99). m BRND). 3NET 3 esn m
3 3 3 3 3

Question:

SN EALS0VWIE
Topic: Mathematics-Section B
Item No: 87
Question ID: 154771545287
Question Type: | Numeric Answer

o= s, E;_{_E _x _B_H,g} e

2 2 4 4
Question: ' =
Hestion A= {19 eS: Ianrf?(] ++/5 tan(2{:?)] =5 —tan {23)} neetd Neeodny
AO85;030
Topic: Mathematics-Section B
Item No: 88
Question ID: 154771545288

Question Type:

Numeric Answer

z=a+ib, b0 2 _ 3.9 B ABRAIE 0T N0D;

Question: H083;0300N0E. e3n1 2 =(z+1)" e3a303 n € 1T & FOR, 23e3adn
Topic: Mathematics-Section B

Item No: 89

Question ID: 154771545289

Question Type:

Numeric Answer

2,00 BB 4 2P eI, 6 TR, BORINTI. enel) eFOBINT™,
BOROT Ol 8, Fewen 3rodennd. dotff 3G worinyd) X

Question: | ~=0,59T) 22 220BINY ROT0IPNTE). 2 LHTTHT X &
BROBOD IFOFBWNED. e371 1000 T 233030

Topic: Mathematics-Section B

Item No: 90

Question ID: 154771545290




Question Type:

Numeric Answer

Question:

"

jf,us_i'[“f'_-f?m. eSTTORES 233030 .

5N X




